LCSIM
LCSIM Example

This example is taken from the SVN repository: ./Examples/LCSIM/MainLoop.java.

This loads an existing SLCIO file, and copies it into a ROOT file.

/1 MainLoop. java

/1 Java wrapper to enabl e running outside of JAS3

/1 16-JUL-2005 Jan Strube

/1 froma response to the JAS mailing |list by Tony Johnson

inport java.io.*;

inport org.lcsimutil.Driver;

import org.lcsimutil.aida. Al DA

import org.lcsimutil.loop.LClCDriver;
import org.lcsimutil.loop.LCSi nLoop;
inmport org.lcsimthirdparty.javaROOT. *;

public class MinLoop

{
public static void main( String[] args ) throws Exception
{
/'l Load the library
try
{
System | oadLi brary( "javaROOT" );
}
catch( Unsati sfiedLi nkError javaROOT_|inkError )
{
Systemerr.println( "javaROOT native library failed to load.!!!\n" + javaROOT_li nkError
+"\n" );
Systemexit( -1 );
}
/1 Program accepts one argunent, an SLCIOfile's filenane.
if( args.length !'=1)
{
Systemerr.println( "This programneeds to be passed an SLCIO filenane." );
Systemexit( -1 );
}
Root Sessi onFi el d sess = new Root Sessi onFi el d( "org_lcsimroot", "RECREATE', "Mi nLoop" );
LCSi mLoop | oop = new LCSi nLoop();
File input;
try
{
input = new File( args[ 0] );
| oop. set LClI ORecor dSour ce( input );
| oop. add( new Anal ysi s101( sess ) );
loop.loop( -1);
Al DA. def aul tI nstance().saveAs( "org_lcsimaida" );
}
catch( | Cexception e )
{
Systemerr.println( "Could not open SLCIOfile: " + e );
}
finally
{
sess. delete();
}
}



JExamples/LCSIM/Analysis101.java.

inport org.lcsimutil.aida. Al DA

i mport hep. physi cs. vec. VecOp;

inport java.util.List;

inport org.lcsimevent. Event Header ;
import org.lcsimevent.MCParticl e;
import org.lcsimutil.Driver;

import java.io.Consol e;

import org.lcsimthirdparty.javaROOT. *;

/**
* An exanpl e showi ng how to access MCParticles fromthe Event Header and
* make sone sinple histograms fromthe data.
*
* @uthor Norman G af
* @ersion $ld: AnalysislOl.java,v 1.1 2008/10/30 23:38:19 jereny Exp $
*/
public class Anal ysis101 extends Driver
{
private Al DA aida = Al DA defaul tlnstance();
private Root SessionFi el d sess;

public Anal ysi s101( Root Sessi onFi el d sessi on)

{

Sess = session;

sess. newlTr ee("anal ysi s101", "Test", 99);

sess. branchTTr eeFl oat ("anal ysi s101", "energy");

sess. branchTTr eeFl oat ("anal ysi s101", "cosTheta");

sess. branchTTr eeFl oat ("anal ysi s101", "phi");

sess. setupTTree("anal ysi s101");

sess. newlH1F( "nTracks", "Nunber of Tracks", 10, 0, 200 );
}

protected void process(Event Header event)
{
/'l Get the list of MCParticles fromthe event
Li st<MCParticle> particles = event.get(MCParticle. cl ass, event. MC_PARTI CLES) ;
/1 Hi stogramthe nunber of particles per event
ai da. cl oud1D("nTracks").fill (particles.size());
sess. fill THLF( "nTracks", particles.size() );

/'l Loop over the particles
for( int i =0; i < particles.size(); i++)
{
sess. fillBranchFl oat( "anal ysi s101", "energy", (float)particles.get( i ).getEnergy() );
sess. fill BranchFl oat ( "anal ysi s101", "cosTheta", (float)VecOp.cosTheta(particles.get( i
). get Momentum()) );
sess. fillBranchFl oat ( "anal ysi s101", "phi", (float)VecOp.phi(particles.get( i ).
get Monentun()) );

sess. fill TTree( "anal ysi s101" );
ai da. cl oud1D("energy").fill (particles.get( i ).getEnergy());
ai da. cl oud1D("cosTheta").fill (VecOp.cosTheta(particles.get( i ).getMnmentun()));

ai da. cl oud1D("phi").fill (VecOp.phi (particles.get( i ).getMnentun()));
}

Systemout.println("Event : "+ event);
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